
 

 

   ku~l AMk:80          mwfl pRSn p~qr (gixq)     smW:3 GMty 
Max. Marks:80                 Model Test Paper (Mathematics) Time : 3 Hrs. 

jmwq-dsvIN 
Class X 

jrUrI not:- 

1. Bwg-a pRSn 1 qoN lY ky 8 q~k ie~k AMk vwly hn[                                                                                          
 Part-A  From Q. 1 to Q. 8 carry 1 mark. 

2.  Bwg-A pRSn 9 qNo lY ky 16 q~k do AMk vwly hn[ 

 Part-B From Q.9 to Q 16 carry 2 marks. 

3. Bwg-e pRSn 17 qNo lY ky 24 q~k cwr AMk vwly hn[ iehnW pRSnW iv~c iksy vI iqMn 
pRSnW     iv~c AMdrUnI Cot hovygI[ 

 Part-C From Q.17 to Q. 24 carry 4 marks and have internal Choice 

4.  Bwg-s pRSn 25 qNo lY ky 28 q~k Cy AMk vwly hn[ iehnW swry pRSnW iv~c AMdrUnI 
Cot hovygI[           

 Part-D From Q. 25 to Q. 28 carry 6 marks. 

Bwg-a  

Part-A 

hryk pRSn dw 1 AMk h Y: 

Each Question carry One Mark 

 

1. ABwj guxnKMf ru~K pUrw kro:    

  Complete Prime factor tree  

 

2. AMkgixiqk lVI 47,41,-------,29 iv~c KwlI QW Bro[ 

   Fill in the Blank in the A.P. 47,41,_____,29 

 

3.  jykr ibMdU R do ibMdUAW  P (2,3) Aqy  Q (4,5) nMU     
imlwaux vwly ryKwKMf dw m~D ibMdU hY qW ibMdU R dy  

    inrdyS AMk ilKo[    

If R is the mid point of line joining Pts. P(2,3) & Q(4,5) then find the co ordinates of R 

 4. 8 sm iknwry vwly do GxW nUM joV ky bxI AwikRqI dw nW d~so[ 

 Name the figure obtained by joining two cubes of side 8 cm each. 

 

 

R 



 

 

5.  tan (90o-Ө)=sinӨ                             (shI/glq) 

 tan (90-Ө)= sinӨ                (True/False)  

 

6.  6 sm ArD ivAws vwly c~kr dw KyqrPl 36 vrg sm hovygw?      (shI/glq) 

 Area of circle having radius 6 cm is 36 cm2     (True/False) 

 

7.  bhupd p(x) = x2-3 iv~c isPrW dI igxqI ikMnI hY?   

 (a)    1     (A)   2 (e)   3      (s)    4 

 How many number of zero are their in Polynomial, P(x)=x2-3. 

 (a)       1 (b)        2 (c)       3 (d)         4   

 

8.  ie~k bksy iv~c 3 nIly, 2 ic~ty Aqy 4 lwl bMty hn[ jykr ies bksy iv~coN ie~k bMtw 
Acwnk k~iFAw jWdw hY qW iesdI kI sMBwvnw hY ik ieh bMtw kwly rMg dw hovy? 

 A box contains 3 blue, 2 white & 4 red marbles. If a marble is drawn at random from box, 

what is the probabilty that it will be black? 

 

Bwg-A 

Part-B 

 hryk pRSn dy 2 AMk hn[ 

 Each question carry 2 marks. 

9.  sMiKAwvW 306 Aqy 657 dw m.s.v. 9 hY[iehnW dw l.s.v. pqw kro[ 

 H.C.F of two numbers 306 & 657 is 9. Find their L.C.M. 

 

10. do GwqI bhupdW 4X2 -4X+1 dy isPr pqw kro Aqy isPrW Aqy guxwkW dy iv~ckwr sMbMDW dI 
s~cweI dI jWc kro[ 

Find the zero of quardatic polynomial 4x2-4x+1 & verify the relationship between their 

zeros and the coefficents. 

 

11. hyT id~qy smIkrx joVy nMU h~l kro[ 

 7X-15Y=2 

  



 

 

 Solve the pair of liner equations. 

 7X-15Y=2 

 X+2Y=3 

 

12. jykr doGwqI smIkrx 2X2+X-6=0 dy mUl sMBv hn qW iehnW dw mUl pqw kro [ 

 Find the roots of the following quardatic equation, if they exit   

 2x2+x-6=0 

 

13. do smrUp iqRBujW dIAW BujwvW 4:9 dy Anupwq iv~c hn[ienHW iqRBujW dy KyqrPlW dw Anupwq 
pqw kro[ 

 Sides of two similar triangles are in the ratio 4:9. Then find ratio of their area. 

 

14.  ie~k ibMdU A qoN, jo ie~k c~kr dy kyNdr qoN 5 cm   dUrI ‘qy hY, c~kr ‘qy sprS ryKw dI 
lMbweI 4 cm   hY[ c~kr dw ArD ivAws pqw kro[ 

 The length of a tangent from a point A at distance 5 cm from the centre of the circle is 4 

cm. Find the radius of circle. 

 

15.  hyTW id~qI vMf swrxI 35 SihrW dI swKrqw dr (pRqISq iv~c) drswauNdI hY[m~Dmwn 
swKrqw dr pqw kro: 

swKrqw dr 
(% iv~c) 

45-55 55-65 65-75 75-85 85-95 

SihrW dI 
sMiKAw 

3 10 11 8 3 

  

 The following table gives the litracy rate (in percentage) of 35 cities. Find the litracy rate. 

Litracy rate 

(%age) 

45-55 55-65 65-75 75-85 85-95 

No. of Cities 3 10 11 8 3 

 

16. hrpRIq do iBMn iBMn is~ikAW nMU ie~kTy auCwldI hY[iesdI kI sMBwvnw hY ik auh G~to-G~t 
ie~k ic~q (HEAD) pRwpq krygI[ieh vI d~so ik iqMn ic~q Awaux dI kI sMBwvnw ho skdI 
hY? 

 Harpreet tosses two different coins simultaneously. What is the probabilty that she gets at 

least one HEAD. Also find the probabily of getting three HEADS ? 



 

 

 

Bwg-e 

Part-C 

 hryk pRSn dy 4 AMk hn: 

 Each question carry 4 marks: 

17. do sMiKAwvW dy vrgW dw AMqr 180 hY[ CotI sMiKAw dw vrg, v~fI sMiKAw dw A~T guxw hY[ 
dovy sMiKAwvW pqw kro[ 

 The difference of squares of two numbers is 180. The square of the smaller number is 8 

times the larger number. Find two numbers. 

 

18. jykr iksy A.P  dy pihly 14 pdW dw joVPl 1050 hY Aqy iesdw pihlw pd 10 hY  qW 20vW 
pd kI hovygw? 

 If  the sum of the first 14 terms of an A.P. is 1050 and its first term is 10. Find 20th term. 

 

19. is~D kro ik iksy c~kr dy bwhrly pwsy CUMhdw smWqr cqurBuj, smcqurBuj huMdw hY[ 

 Prove that the parallelogram circumscribing a circle is rhombus. 

jW    Or 

 ie~k smBujI iqRBuj dI Bujw 2a hY[ iesdy hryk isKr lMb dI lMbweI pqw kro[ 

 Side of equilateral triangle is 2a. find the length of its each altitude. 

 

20. jykr ibMdU (1,2) , (4, y) , (x,6) Aqy (3,5) iesy kRm iv~c lYx ‘qy ie~k smWqr cqurBuj dy 
isKr hox qW x Aqy y pqw kro[ 

 If  (1,2), (4,y), (x,6) and (3,5) are the vertices of parallelogram taken in order, find x and y 

 

21. hyT id~qI qqsmk is~D kro ik  

 (cosec A  − cot A )2 =
1−cos 𝐴

1−cos 𝐴
 

 Prove the identity     

 (cosec A  − cot A )2 =
1−cos 𝐴

1−cos 𝐴
 

jW  Or 

 jykr sec4A=cosec(A-20o)  hovy, ij`Qy, A, ie~k inaUn kOx hY qW A dw mu~l pqw kro[ 

 If Sec4A= Cosec(A-200) where A is acute angle, find the value of A 



 

 

22. jmIn dy ie~k ibMdU qoN ie~k 20 m au~cI iemwrq dy isKr ‘qy l~gy sMcwr mInwr dy ql Aqy 
isKr dw au~cwx kox kRmvwr 45 o Aqy 60 o hY[sMcwr mInwr dI au~cweI pqw kro[ 

 From a point on the ground, the angle of elevation of the bottom and top of transmission 

tower fixed at the top of 20 m high building are 45o and 60o respectively. Find the height 

of the transmission tower.  

 

23. 6 cm ArD ivAws dw ie~k c~kr iK~co[kyNdr qoN 10 cm dUr siQq ie~k ibMdU qoN c~kr ‘qy 
sprS ryKwvW dy joVy dI rcnw kro Aqy aunHW dIAW lMbweIAW mwpo[ 

 Draw a circle of radius 6 cm. From a point 10 cm away from its centre, construct the pair 

of tangents to the circle and measure their length.  

 

24. Bujw 4 cm vwly ie~k vrg dy hryk kony qoN 1 cm ArD 
ivAws vwly c~kr dw ie~k cOQweI k~itAw igAw hY Aqy 
ivcwly 2 cm ivAws dw ie~k c~kr vI k~itAw igAw hY[ 
vrg dy bwkI Bwg dw KyqrPl pqw kro[ 

 From each corner of square of side 4 cm a quadrent of a 

circle of radius 1 cm is cut and also a circle of diameter 2 

cm is cut from the center. Find the area of the remaining 

portion of the square 

jW   Or 

 shI imlwx kro: 

 ArD ivAwsI KMf dw KyqrPl         π  

 ArD ivAwsI KMf dy sMgq cwp dI lMbweI  𝛑𝐫𝟐

𝟒
 

 c~kr dw Gyrw/ c~kr dw ivAws  𝛑𝐫𝟐Ө

𝟑𝟔𝟎
 

 c~kr dy cOQy ih~sy dw KyqrPl  𝟐𝛑𝐫Ө

𝟑𝟔𝟎
 

  

 Match the following 

 Area of sector of circle         π  

 Length of arc of a sector  𝛑𝐫𝟐

𝟒
 

 Perimeter of circle/ Diameter of circle  𝛑𝐫𝟐Ө

𝟑𝟔𝟎
 

 Area of quardrent of a cicle  𝟐𝛑𝐫Ө

𝟑𝟔𝟎
 



 

 

Bwg-s 

Part-D 

 hryk pRSn dy 6 AMk hn: 

 Each question carry 6 marks: 

25. 2 iesqrIAW Aqy 5 AwdmI ie~k ksIdy dy kMm nMU ie~kTy 4 idn iv~c pUrw kr skdy hn, jdik 
3 iesqrIAW Aqy 6 AwdmI iesnMU 3 idn iv~c pUrw kr skdy hn[pqw kro ik ies kMm nMU 
ie~k ie~klI iesqrI ikMny smyN iv~c pUrw krygI? ies kMm nMU ie~klw ie~k AwdmI ikMny smyN 
iv~c pUrw krygw? 

 2 Wemen  and  5 men can togather finish an embroidary work in 4 days, while 3 wemen 

and 6 men can finish it in 3 days. Find the time taken by 1 woman alone and also by 1 man 

alone. 

jW  Or 

 smIkrxW dy hyTW id~qy joVy nMU h~l kro: 

              
2

𝑥
+

3

𝑦
= 13 

              
5

𝑥
−

4

𝑦
= −2 

 Solve the pair of liner equations 

              
2

𝑥
+

3

𝑦
= 13 

              
5

𝑥
−

4

𝑦
= −2 

    

26. is~D kro ik do smrUp iqRBujW dy KyqrPlW dw Anupwq iehnW dIAW sMgq BujwvW dy Anupwq dy 
vrg dy brwbr huMdw hY[ 

 Prove that ratio of the area of two similar triangles is equal to the square of the ratio of their 

corresponding sides. 

jW   Or 

 mUl smwn Anupwqqw iQaurm dw isDwNq ilKo qy is~D kro[ 

 State and prove the Basic Proprtionality theorem. 

 

27. ie~k topI SMkU dy ie~k iCMnk dy Awkwr dI hY[jykr iesdy Ku~ly isry dw ArD ivAws 10 cm 

hY, auprI isry dw ArD ivAws 4 cm hY Aqy topI dI iqrCI au~cweI 15 cm hY, qW iesdy 
bxwaux leI l~gy kpVy dw KyqrPl pqw kro[ 



 

 

 A cap is shaaped like the frustum of a cone. If its radius on the open side is 10 cm, redius 

at the upper side is 4 cm and its slant height is 15 cm, find the area of material used for 

making it. 

jW   Or 

kRmvwr : 6 cm , 8 cm Aqy 10 cm ArD ivAwsW vwly DwqU dy iqMn Tos goilAW nMU ipGlw ky 
ie~k v~fw Tos golw bxwieAw jWdw hY[ies goly dw ArD ivAws pqw kro[ 

Matellic spheres of radii 6 cm, 8 cm and 10 cm, respectively are melted to form a single 

solid sphere. Find the radius of the resultant sphere. 

 

28. hyT ilKy AMkiVAW dI m~iDkw 28.5 hY[ jykr bwrMbwrqwvW dw joV 60 hY, qW x Aqy y dw mu~l 
pqw kro[  

vrg AMqrwl bwrMbwrqw 

0-10 5 

10-20 x 

20-30 20 

30-40 15 

40-50 y 

50-60 5 

  

 If  the median of the distribution given below is 28.5. Find the value of x and y 

Class Interval Frequency 

0-10 5 

10-20 x 

20-30 20 

30-40 15 

40-50 y 

50-60 5 

 

jW     Or                                                              

id~qI hoeI vMf swrxI ivSv dy ku~J vDIAw b~lybwjW duAwrw ie~k rojw AMqrrwStrI ikRkt 
mYcW iv~c bxweIAW geIAW dOVW nUM drswauNdI hY: 

 



 

 

bxweIAW geIAW dOVW b~lybwjW dI sMiKAw 

3000-4000 4 

4000-5000 18 

5000-6000 9 

6000-7000 7 

7000-8000 6 

8000-9000 3 

9000-10000 1 

10000-11000 1 

     iehnW AMkiVAW dw bhulk Aqy m~iDkw pqw kro[ 

  The given distribution shows the number of runs scored by some top batesmen of the 

world in    One -day international cricket matches. 

Runs Scored No. of Batesmen 

3000-4000 4 

4000-5000 18 

5000-6000 9 

6000-7000 7 

7000-8000 6 

8000-9000 3 

9000-10000 1 

10000-11000 1 

 Find the mode and median. 


